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Entries  518933

Mean x     4.9±  598.6 

Mean y  0.02999± -14.41 

RMS x   3.464±  529.7 

RMS y  0.02121±  3.242 

Integral   1.169e+04
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Mean x   6.527±  786.5 

Mean y  0.02564± -14.25 

RMS x   4.615±  711.6 

RMS y  0.01813±  2.795 

Integral   1.188e+04
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Mean x   5.705±  694.6 

Mean y  0.02625± -14.41 

RMS x   4.034±  617.7 

RMS y  0.01856±  2.842 

Integral   1.172e+04

0

2

4

6

8

10

12

14

16
AVE_time_vs_AVEsum_adc_e15

Entries  518933

Mean x   5.705±  694.6 

Mean y  0.02625± -14.41 

RMS x   4.034±  617.7 

RMS y  0.01856±  2.842 

Integral   1.172e+04

AVE_time_vs_AVEsum_adc_e15

sqrt(BB.tp.e.RApedc[15]*BB.tp.e.LApedc[15])

0 500 1000 1500 2000 2500 3000

0.
5*

(B
B

.t
p

.e
.R

T
[1

5]
+B

B
.t

p
.e

.L
T

[1
5]

)-
D

B
B

.l1
a[

0]
*0

.5

-20

-18

-16

-14

-12

-10

-8

-6

-4

-2

0
AVE_time_vs_AVEsqrt_adc_e15

Entries  518933

Mean x   5.619±  683.2 

Mean y  0.02624± -14.41 

RMS x   3.973±  609.5 

RMS y  0.01856±  2.847 
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Entries  206338

Mean x  0.001341± -0.007049 

Mean y  0.03669± -14.38 

RMS x  0.0009483± 0.1103 

RMS y  0.02594±  3.017 

Integral     6763
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Mean x  0.001342± -0.00681 

Mean y  0.0325± -14.44 

RMS x  0.0009489± 0.1103 
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